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1 9:00 8:40 B VUREEEE 110mH (0. 914m) cZ v w W 3
2 9:10 8:50 % -ABF£3E 110mH (0. 914m) N4 JAR=2 6
3 9:35 9:15 FF-CZ 5 A100mH (0. 762m) N4 o W 1
4 9:45 9:25 L DIFEEEEE 100mH (0. 762m) cZ w2 w W 3
5 9:55 9:35 22 F-ABH: 100mH (0. 762m) N4 JARV=2 10
6 10:10 9:50 BF-ABCH@I00m 1~ 1 5 N4 JARY=2 75
7 10:40 10:20 % F-ABCH:@100m 1 6 ~ 3 0
8 11:10 10:50 B T-ABCHE100m 3 1 ~4 54
9 11:40 11:20 B T-ABCH®100m 4 6 ~6 0#f
10 12:10 11:50 B T-ABCH®100m 6 1~ 7 54
11 12:40 12:20 F-ABCH@EIOOM 1~1 54 N4 JARY=2 74
12 13:10 12:50 L F-ABCHI@E100m 1 6~ 3 Of
13 13:40 13:20 L F-ABCHI@E100m 3 1 ~4 55
14 14:10 13:50 L F-ABCHI@E100m 4 6 ~6 Of
15 14:40 14:20 L F-ABCHIE100m 6 1~ 7 441
16 15:10 14:50 BFAZ 7 A200m N4 JAR=2 8
17 15:30 15:10 AT T A200m N4 JAR=2 6
18 15:50 15:30 7 IUFEBEE 200m N4 B 3
19 16:00 15:40 % 1-OFEH L 400m N4 W B 3
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2 9:45 9:15 e -BCAL A A g Bk ALY W B 3
3 11:15 10:45 Lo DAFEBE . Ak B —v W B 1
4 13:30 13:00 B utER bk B — B 1
5 13:30 13:00 5 F-BCH:3m A E Bk ALY W B 2
6 15:00 14:30 LAY T AE Bk BV —v o B 1
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1 9:30 9:00 %B1B7 7 AR (4. 000kg) A — W 1
2 10:30 10:00 %7 fiu L (4. 000kg) A — o 1
3 12:00 11:30 Zef-ABSL AL I (2. T21kg) A — o 1
4 12:30 12:00 TTABCHBEY v R v 7 Am— A — W B 1
5 14:00 13:30 2o UFERE B RuAL$ (2. 721kg) A — W B 1
6 15:00 14:30 BTA7 7 2w (5. 000kg) A — o 1
7 15:10 14:50 BTABCHEY ¥ RY vy 21— A —v W B 1
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1 10:00 9:40 B1AZ Z A3000m N4 BABV=2
2 10:55 10:35 FAZ F A3000m 4 JABV=2
3 11:30 11:10 % BCHiH 1500m 1~4f N4 BABV=2 19
4 11:55 11:35 % BCHiH 1500m 5~ 9
5 12:35 12:15 % BCHiH 1500m 10~14#
6 13:10 12:50 % BCH:iHE 1500m 15~19#
7 13:55 13:35 LFBZ T A1500m N4 BARV=A 6
8 14:45 14:25 L F-CZ T A800m THAL~ 7 i N4 BARV=A 15
9 15:20 15:00 F-Cr T A800m S~ 1 54
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1 10:30 10:00 3 7-ABCHL3E YA B¢ (1. 500kg) A — o B 1
2 14:00 13:30 Zrf-ABCH: 3/ I/ 4% (1. 000kg) A — o B 1
_Ehttp:f/nagoyatf.xyz/kg‘
g <« FLEEEQR=—F
z 5
£ =
S 3
S g

W /Zresuoua/zhx 3re<



